Project Name: Casitas Vista Road Bike Lanes Spec. No. RD20-01 Abstract of Bids opened on Jan. 30, 2020

ENGINEER'S ESTIMATE: 445,000.00

LOW BIDDER -

454,568.50

J & H Engineering General Contractors, Inc.

Camarillo, CA 93012

2nd Bidder -

571,398.00

Toro Enterprises, Inc. Oxnard, CA 93031

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, County of Ventura, at the time and place designated in the Notice Inviting Bids, were publicly opened, read, and were checked.

Director, Engineering Services Department

Copies: Director PWA, PM: Ariel Braza, Y. Perez

Bids opened on Jan. 30, 2020				ENGINEER'S ESTIMATE		LOW BIDDER	
Project Name: Casitas Vista Road Bike Lanes						J & H Engineerin 4065 Mission Oa	g General Contractors, Ir ks Blvd., Suite B
						Camarillo, CA 93	012
	Spec. No. RD20-01						
ITEM NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1	46,299.00	46,299.00	40,000.00	40,000.00
2	Traffic Control and Construction Signing	LS	1	50,000.00	50,000.00	37,000.00	37,000.00
3	Water Pollution Control	LS	1	5,000.00	5,000.00	7,500.00	7,500.00
4	12" CMP Extension	LF	7	250.00	1,750.00	100.00	700.00
5	Straight Headwall (H = 3'-4")	LS	1	6,000.00	6,000.00	9,500.00	9,500.00
6	Straight Headwall (H = 6'-9")	LS	1	12,000.00	12,000.00	16,500.00	16,500.00
7	AC Pavement Widening (7" Thick)	TN	1200	150.00	180,000.00	160.00	192,000.00
8	Miscellaneous AC Paving	TN	30	450.00	13,500.00	300.00	9,000.00
9	Headwall & 18" CMP Removal	LS	1	1,000.00	1,000.00	1,850.00	1,850.00
10	6" AC Curb	LF	74	25.00	1,850.00	25.00	1,850.00
11	AC Fill of Centerline Grooves	LS	1	10,000.00	10,000.00	2,500.00	2,500.00
12	Surface Preparation & Crack Sealing	LS	1	15,000.00	15,000.00	23,000.00	23,000.00
13	Type II Emulsion-Aggregate Slurry	SY	12600	4.00	50,400.00	5.30	66,780.00
14	PMB Shoulder Backing	MI	0.9	18,000.00	16,200.00	14,875.00	13,387.50
15	Pavement Delineation, Striping & Signs	LS	1	36,000.00	36,000.00	33,000.00	33,000.00
16	Release on Contract	LS	1	1.00	1.00	1.00	1.00
	TOTAL				445,000.00	-	454,568.50

Corrections: A=Addition corrected

Copies: Director PWA, PM: Ariel Braza, Y. Perez

Bids opened on Jan. 30, 2020		2nd Bidder		3rd Bidder	
Project Name: Casitas Vista Road Bike Lanes		Toro Enterprises, Ir	nc.		
		P. O. Box 6285			
		Oxnard, CA 93031			
	Spec. No. RD20-01				
ITEM NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	97,000.00	97,000.00		
2	Traffic Control and Construction Signing	86,000.00	86,000.00		-
3	Water Pollution Control	7,500.00	7,500.00		(¥)
ĺ	12" CMP Extension	285.00	1,995.00		
;	Straight Headwall (H = 3'-4")	11,000.00	11,000.00		•
3	Straight Headwall (H = 6'-9")	14,000.00	14,000.00		:≛:
7	AC Pavement Widening (7" Thick)	173.00	207,600.00		•
3	Miscellaneous AC Paving	423.00	12,690.00		() (()
)	Headwall & 18" CMP Removal	9,500.00	9,500.00		*
10	6" AC Curb	27.00	1,998.00		(Ce)
1	AC Fill of Centerline Grooves	6,200.00	6,200.00		11.
12	Surface Preparation & Crack Sealing	12,000.00	12,000.00		100
13	Type II Emulsion-Aggregate Slurry	3.89	49,014.00		(*
14	PMB Shoulder Backing	21,000.00	18,900.00		-
15	Pavement Delineation, Striping & Signs	36,000.00	36,000.00		-:
16	Release on Contract	1.00	1.00		
	TOTAL		571,398.00 A	1	0.00

Copies: Director PWA, PM: Ariel Braza, Y. Perez

Spec. No. RD20-01 Project No.: 50526

PROPOSAL

Contractor's Name J & H Engineering General Contractors, Inc.

List of Subcontractors and Off-Job Fabricators

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor or Off-Job Fabricator	Contractor's License Number	Business Address	Items of Work
Super Seal & Stripe	396627	310 A Street Fillmore, CA 93015	#15 Pavement Delineation
Pavement Rehab Company	1051374	1181 Princess Ct. Costa Mesa, CA 92626	#12 Crack seal
Pavement Coatings Co.	303609	736 Mission Rock Rd. Santa Paula, CA	#13 Type II Emulsion

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, contractor's license number, and location of the place of business of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of one percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of one percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list (b) only one subcontractor for each portion as is defined by the prime contractor in his or her bid."

NOTE: Contractor shall perform, with its own organization, Contract work amounting to at least 50 percent of the Contract Price. See specifications section 2-3.2 for exceptions.

Spec. No. RD20-01 Project No.: 50526

PROPOSAL

Contractor's Name _____Toro Enterprises, Inc.

List of Subcontractors and Off-Job Fabricators

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor or Off-Job Fabricator	Contractor's License Number	Business Address	Items of Work
GLOBAL POAD SEALING	757584	GARDEN GROVE, CA	CRACK SEAL
ABSL CONSTRUCTION	621781	HAYWARD, CA	AC PAVEMENT WIDENING (PORTIO
CASE LAND SURVEY	L5411	ORANGE, CA	supvey
SUPER SEAL \$ STRIPE	396627	FILLMORE, CA	STRIPING
MISSION PAVING & SCALING	624257	IRWINDALE, CA	TYPE IT SLURRY
2			
(v.			

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, contractor's license number, and location of the place of business of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of one percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of one percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid."

NOTE: Contractor shall perform, with its own organization, Contract work amounting to at least 50 percent of the Contract Price. See specifications section 2-3.2 for exceptions.